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(OIL�\XVUD���������� ��3HUVHSVL�0DV\DUDNDW� WHUKDGDS�0DK\HOGL�$QVKDUXOODK��
GDODP�PHQJKDGDSL�3LONDGD�6HUHQWDN�������VWXGL�NDVXV�
GL�NRWD�3DGDQJ�

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQGHVNULSVLNDQ� SHUVHSVL� PDV\DUDNDW�
WHUKDGDS�%DSDN�0DK\HOGL�GDODP�PHQJKDGDSL�3LONDGD�6HUHQWDN������GLWLQMDX�GDUL�
LQGLFDWRU� FUHGLELOLW\�� SRZHU� GDQ� DWWUDFWLYHQHVV�� 0DK\HOGL� PHUXSDNDQ� VDODK�
VHRUDQJ�SDVORQ�GDODP�3LONDGD�VHUHQWDN������GL�NRWD�3DGDQJ�\DQJ�GLXVXQJ�3DUWDL�
3.6��6HWHODK�GLODNXNDQ�SHQJXPXWDQ�VXDUD��EDSDN�0DK\HOGL�GDQ�ZDNLOQ\D�WHUSLOLK�
PHQMDGL� SDVORQ� \DQJ� PHQGDSDW� VXDUD� WHUEDQ\DN� GL� EDQGLQJ� SDVORQ�
ODLQQ\D�6HEHOXPQ\D� SDGD� SLONDGD� SHULRGH� ����� EDSDN� 0DK\HOGL� MXJD�
PHPHQDQJNDQ�VXDUD�WHUEDQ\DN�EHUVDPD�ZDNLOQ\D��'DQ�SLONDGD�SHULRGH������MXJD�
WHUSLOLK�PHQMDGL�ZDNLO�ZDOLNRWD�3DGDQJ�

-HQLV� SHQHOLWLDQ� LQL� DGDODK� GHVNULSWLI� GHQJDQ� MHQLV� NXDQWLWDWLI�� 3RSXODVL�
SHQHOLWLDQ� DGDODK� SHPLOLK� GL� .HFDPDWDQ� 3DGDQJ�8WDUD� EHUMXPODK� ������� RUDQJ��
3HQJDPELODQ� VDPSOH� PHQJJXQDNDQ� WHNQLN� 6LPSOH� 5DQGRP� 6DPSOLQJ� GHQJDQ�
UXPXV� 6ORYLQ� \DLWX� SHQJDPELODQ� VDPSOH� GDUL� DQJJRWD� SRSXODVL� GHQJDQ�
PHQJJXQDNDQ� DFDN� WDQSD� PHPSHUKDWLNDQ� VWUDWD�� 6HKLQJJD� PHPSHUROHK� VDPSOH�
VHEDQ\DN� ���� RUDQJ�� ,QWUXPHQ� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� EHUXSD�
DQJNHW��$QDOLVLV�GDWD�PHQJJXQDNDQ�UXPXV�SHUVHQWDVH�

7HPXDQ� SHQHOLWLDQ� PHQXQMXNNDQ� ���� 3HUVHSVL� PDV\DUDNDW� WHUKDGDS�
FUHGLELOLW\� 0DK\HOGL� EHUDGD� SDGD� NULWHULD� EDLN� GHQJDQ� LQGLNDVL� �������� ���
3HUVHSVL�PDV\DUDNDW� WHUKDGDS�SRZHU�0DK\HOGL EHUDGD�SDGD�NULWHULD�EDLN� GHQJDQ�
LQGLNDVL� ������� GDQ� ���3HUVHSVL� PDV\DUDNDW� WHUKDGDS� DWUUDFWLYHQHVV� 0DK\HOGL
EHUDGD�SDGD�NULWHULD�EDLN�GHQJDQ�LQGLNDVL�������
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